# 2023 VICTORIA UNIVERSITY POLYTECHNIC COURSE FEES

**RTO Code:** 3113

Current as at: 15/05/2023

# VICTORIA UNIVERSITY

# Eligibility and fee information for students

The Skills First program provides eligible students access to government subsidies which means you can access a reduced tuition fee. You will need to prove your eligibility for a Skills First Funded place as part of the application process. Further details regarding the amount of subsidy you will receive towards your course will be included in your Statement of Fees which will be provided to you with your offer. If you are not eligible for a Government subsidised place, you will be charged the full-fee tuition fee for all enrolled hours.

### **Eligibility exemptions**

If you do not meet the Skills First eligibility criteria to receive government subsidised place, you may be able to access a Government supported eligibility exemption. These exemptions are available to students applying to commence their course after 1 January 2022. The easiest way to find out if you are eligible for an exemption to the Skills First eligibility criteria, is to get in touch with us on 1300 82 33 87.

#### Free TAFE Initiative

Eligible government subsidised students will not pay course tuition fees in selected courses as a way of reducing the financial barriers for students wanting to train in courses that have been identified by the State Government as the occupations that are most needed by employers in the Victorian economy. Further information about the Government initiative and eligiblity requirements can be found here: https://www.vupolytechnic.edu.au/free-tafe

#### Material fees

The material fees provided in this schedule for each course includes only those materials provided to you and excludes any materials you may have to purchase in addition to this. Details of any materials you will be required to purchase will be provided to you in the Statement of Fees with your offer.

#### Paying your fees

You must pay your tuition fees by the due date indicated on your Statement of Account/Invoice, which can be accessed via MyVU. Payment options available include:

- 1. For eligible students enrolling in a Certificate IV or below course OR for eligible students enrolling into a Diploma or above course where the course is not on the approved VET Student Loans course list or the student is ineligible to access a VET Student Loan:
- a payment plan where you are able to pay your tuition fees, material fees and SSAF in instalments, or
- 2. For eligible students enrolling in a Diploma or above course that is listed on the approved VET Student Loans course list and the student is eligible to access a VET Student Loan:
- a payment plan where you are able to pay your material fees and SSAF in instalments, and/or
- a VET Student Loan for eligible students who commenced their course.

More information about VET course tuition and material fees and your eligibility for a Skills First funded place is available at: https://www.yupolytechnic.edu.au/fees-scholarships.

More information about VET Student Loans is available at:

https://www.education.gov.au/information-vet-student-loans-students

#### Concession

If you are accessing a Skills First funded place, a Government concession may be available to you provided you meet additional eligibility criteria. If this criteria is met, you will be charged the concession rate which is equivalent to 20% of the tuition fee. Under the indigenous Completions Initiative and the Asylum Seeker VET Program, students are charged the concession rate for Skills First funded training at all course levels (including Diploma and Advanced Diploma). Note concession rate is only available on the Student Services and Amenities fee and the tuition fee, it does not apply to materials fees. Further, you cannot apply for a concession if you are enrolling into a course as a full-fee or international student.

## Recognition of Prior Learning / Credit Transfer

Recognition of Prior Learning for a unit(s) within the enrolled course will be charged at the standard tuition fee rate for Skills First funded students and at 50% of the standard tuition fee rate for full-fee students. Credit Transfers are free of charge for both Skills First funded and full-fee students.

# Withdrawal / Refund

If you wish to cease or take a break from your studies, you must formally withdraw from your course by signing a TAFE Withdrawal Form. If you do not formally withdraw by the withdrawal date, you will still be liable for all fees. Please contact your teacher or teaching area Manager to discuss and complete your withdrawal. Further information can be found here: https://www.vu.edu.au/current-students/your-course/fees/refunds

#### Student Services and Amenities Fee (SSAF)

The SSAF contributes to the provision of improved services and amenities of a non-academic nature to all students at Victoria University. The SSAF for vocational education students is charged as a flat fee per calendar year based on where you are studying and whether you are eligible for a concession, with an overall maximum fee cap. The SSAF must be paid upfront upon enrolment.

Victoria University Polytechnic student category	2023				
Skills First funded student - on-campus / no concession	\$163.00				
Skills First funded student - on-campus / with concession					
Skills First funded student - off-campus incl. Industry training/Geelong/Werribee East/Online					
Skills First funded student - full RPL / 60 hours per year / asylum seeker	N/A				
Non-Skills First funded student	N/A				

Note: The SSAF is charged as an annual fee per calendar year. The SSAF concession rate is only available to students who are currently eligible for concession rates on their tuition fees. The maximum SSAF charge for VET students in 2023 is \$160.65. More information about the SSAF is available at:

https://www.vu.edu.au/current-students/your-course/fees/your-ssaf-contribution

#### Census dates

Census dates apply to Diploma and above courses, and are the last day to finalise your enrolment for each teaching period, including submitting a request for fee-help, paying any upfront tuition fees, your SSAF and material fees. Further information about census dates is available at:

https://www.vu.edu.au/current-students/your-course/fees/vet-tafe-fees/vet-tafe-census-payment-deadlines

Victoria Polytechnic 22334VIC

22338VICB

22338VICC

22443VIC

22445VIC

22451VIC 22469VIC

22470VIC

22472VIC

22473VIC

22474VIC

22476VIC 22477VIC

22481VIC

22481VIC 22482VIC

22483VIC

22484VIC 22484VIC

22485VIC 22485VIC

22486VIC

22486VIC 22487VIC

22488VIC 22489VIC

22490VIC

22491VIC

22492VIC

22499VIC

22510VIC 22512VIC

22515VIC

22565VIC

22566VIC 22567VIC

22569VIC



rnese rees apply to mulvidual students
Ask us about industry and group rates (Ph: 1300 82 33 87)

These fees apply to individual students Ask us about industry and group rates (Ph: 1300 82 33 87)			Victorian Government Subsidised Student (Material fees and SSAF are charged in addition to the tuition fee)				Full-fee Student (Incl. material fees and SSAF)									
iic de	National Course Code	Course Title	Indicative number of enrolled hours		Indicative student tuition fee for course	Indicative student tuition fee for course (Concession)	Indicative material fee (Incl. GST where applicable)	Student tuition fee per enrolled hour	Indicative student tuition fee for course	VET Student Loan Cap	Course eligible for Free TAFE	Apprentice / Trainee	Non-Apprentice / Trainee	Skills First Government contribution towards your training (Apprenticeship / Traineeship)	Skills Fin Government contribution towards training (Non- Apprent Trainee	ment ution s your ticeship /
	22334VIC	Certificate IV in Cyber Security	880	\$5.80	\$5,104.00	\$1,020.80	\$285.00	\$12.50	\$11,000.00	N/A	Eligible		\$7.00		\$	6,160.00
		Certificate II in Building and Construction Pre- apprenticeship (Stream: Bricklaying)	583	\$2.40	\$1,399.20	\$279.84	\$168.00	\$16.50	\$9,619.50	N/A	Eligible		\$13.00		\$	7,579.00
	22338VIC	Certificate II in Building and Construction Pre- apprenticeship (Stream: Carpentry)	579	\$2.40	\$1,389.60	\$277.92	\$406.00	\$16.50	\$9,553.50	N/A	Eligible		\$13.00		\$	7,527.00
	22443VIC	Graduate Certificate in Management	340	N/A	N/A	N/A	N/A	\$12.50	\$4,250.00	N/A	N/A	\$0.00	\$0.00		\$	-
	22445VIC	Advanced Diploma of Cyber Security	1055	\$9.35	\$9,864.25	N/A	\$195.00	\$14.00	\$14,770.00	\$16,788.00	N/A		\$6.00		s	6,330.00
	22451VIC	Diploma of Teacher Education Preparation	675	\$6.50	\$4,387.50	N/A	\$0.00	\$12.50	\$8,437.50	\$16,788.00	N/A		\$6.50		\$	4,387.50
	22469VIC	Course in Introduction to the National Disability Insurance Scheme	40	\$0.00	\$0.00	\$0.00	\$0.00	\$2.38 **	\$95.00	N/A	N/A		\$10.50		\$	420.00
	22470VIC	Certificate II in Engineering Studies	440	\$2.50	\$1,100.00	\$220.00	\$535.00	\$16.50	\$7,260.00	N/A	Eligible		\$14.50		\$	6,380.00
	22472VIC	Certificate I in General Education for Adults	440	\$0.65	\$286.00	\$57.20	\$0.00	\$8.50	\$3,740.00	N/A	N/A		\$7.50		\$	3,300.00
	22473VIC	Certificate II in General Education for Adults	440	\$0.65	\$286.00	\$57.20	\$0.00	\$8.50	\$3,740.00	N/A	N/A		\$7.50		\$	3,300.00
	22474VIC	Certificate III in General Education for Adults	320	\$0.65	\$208.00	\$41.60	\$0.00	\$8.50	\$2,720.00	N/A	N/A		\$7.50		\$	2,400.00
	22476VIC	Certificate I in General Education for Adults (Introductory)	400	\$0.85	\$340.00	\$68.00	\$0.00	\$8.50	\$3,400.00	N/A	N/A		\$7.50		\$	3,000.00
	22477VIC	Advanced Diploma of Building Design (Architectural)	2086	\$6.30	\$13,141.80	N/A	\$227.00	\$14.00	\$29,204.00	\$16,788.00	N/A		\$7.50		\$	15,645.00
	22481VIC	Certificate II in Work Education Stream: Hospitality	657	\$2.90	\$1,905.30	\$381.06	\$185.00	\$16.50	\$10,840.50	N/A	N/A		\$14.50		Ś	9,526.50
	22481VIC	Certificate II in Work Education Stream: Business	682	\$2.90	\$1,977.80	\$395.56	\$50.00	\$16.50	\$11,253.00	N/A	N/A		\$14.50		\$	9,889.00
	22482VIC	Course in Initial EAL	430	\$0.65	\$279.50	\$55.90	\$0.00	\$8.50	\$3,655.00	N/A	N/A		\$8.75		\$	3,762.50
	22483VIC	Course in EAL	440	\$0.65	\$286.00	\$57.20	\$0.00	\$8.50	\$3,740.00	N/A	N/A		\$8.75		\$	3,850.00
	22484VIC	Certificate I in EAL (Access) (Day & Evening)	500	\$0.65	\$325.00	\$65.00	\$0.00	\$8.50	\$4,250.00	N/A	N/A		\$7.50		\$	3,750.00
	22484VIC	Certificate I in EAL (Access) (Youth)	470	\$0.65	\$305.50	\$61.10	\$0.00	\$8.50	\$3,995.00	N/A	N/A		\$7.50		\$	3,525.00
	22485VIC	Certificate II in EAL (Access) (Day & Evening)	505	\$0.65	\$328.25	\$65.65	\$0.00	\$8.50	\$4,292.50	N/A	N/A		\$7.50		\$	3,787.50
	22485VIC	Certificate II in EAL (Access) (Numeracy & Youth)	485	\$0.65	\$315.25	\$63.05	\$0.00	\$8.50	\$4,122.50	N/A	N/A		\$7.50		\$	3,637.50
	22486VIC	Certificate III in EAL (Access)(Day & Evening)	490	\$0.65	\$318.50	\$63.70	\$0.00	\$8.50	\$4,165.00	N/A	N/A		\$7.50		\$	3,675.00
	22486VIC	Certificate III in EAL (Access)(Youth)	470	\$0.65	\$305.50	\$61.10	\$0.00	\$8.50	\$3,995.00	N/A	N/A		\$7.50		\$	3,525.00
	22487VIC	Certificate IV in EAL (Access)	505	\$0.65	\$328.25	\$65.65	\$0.00	\$8.50	\$4,292.50	N/A	N/A		\$7.50		\$	3,787.50
	22488VIC	Certificate II in EAL (Employment)	370	\$0.85	\$314.50	\$62.90	\$0.00	\$8.50	\$3,145.00	N/A	N/A		\$7.50		\$	2,775.00
	22489VIC	Certificate III in EAL (Employment)	380	\$0.95	\$361.00	\$72.20	\$0.00	\$8.50	\$3,230.00	N/A	N/A		\$7.50		\$	2,850.00
	22490VIC	Certificate IV in EAL (Employment / Professional)	560	\$0.85	\$476.00	\$95.20	\$0.00	\$8.50	\$4,760.00	N/A	N/A		\$7.50		\$	4,200.00
	22491VIC	Certificate III in EAL (Further Study)	520	\$0.65	\$338.00	\$67.60	\$0.00	\$8.50	\$4,420.00	N/A	N/A		\$7.50		\$	3,900.00
	22492VIC	Certificate IV in EAL (Further Study)	530	\$0.65	\$344.50	\$68.90	\$0.00	\$8.50	\$4,505.00	N/A	N/A		\$7.50		\$	3,975.00
	22499VIC	Certificate II in Electrotechnology (Pre-vocational)	434	\$5.05	\$2,191.70	\$438.34	\$875.00	\$16.50	\$7,161.00	N/A	Eligible		\$10.50		\$	4,557.00
	22510VIC	Course in Indentifying and Responding to Family Violence Risk	50	\$0.00	\$0.00	\$0.00	\$0.00	\$12.50	\$625.00	N/A	N/A		\$11.00		\$	550.00
		Course in Policing Recruitment Pathway	273	\$0.00	\$0.00	\$0.00	\$0.00	\$14.00	\$3,822.00	N/A	N/A		\$8.75		\$	2,388.75
	22515VIC	Course in Working Safely in the Solar Industry	64	\$0.00	\$0.00	\$0.00	\$0.00	\$10.00	\$640.00	N/A	Eligible		\$10.00		\$	640.00
	22565VIC	Advanced Diploma of Legal Practice	1060	\$6.10	\$6,466.00	\$1,293.20	\$48.00	\$14.00	\$14,840.00	\$11,191.00	N/A		\$7.50		\$	7,950.00
	22566VIC	Certificate I in Work Education	1080	\$1.15	\$1,242.00	\$248.40	\$110.00	\$16.50	\$17,820.00	N/A	N/A		\$14.50		\$	15,660.00
	22567VIC	Certificate I in Transition Education	1150	\$1.15	\$1,322.50	\$264.50	\$125.00	\$16.50	\$18,975.00	N/A	N/A		\$14.50		\$	16,675.00
	22569VIC	Certificate II in Plumbing (Pre-apprenticeship)	492	\$3.25	\$1,599.00	\$319.80	\$419.00	\$16.50	\$8,118.00	N/A	Eligible		\$13.00		\$	6,396.00

Victoria

Polytechnic

22582VIC

22588VIC

22589V/IC

22602VIC

22603VIC

BSB30120

BSB40120

BSB40420

BSB40520

BSB40620

BSB50420

BSB50520

BSB50820

CHCSS00070

CHCSS00093

CHC30121

CHC30121

CHC33015

CHC33015A

CHC33015A

CHC33015B

CHC33015C

CHC40221

CHC40413

CHC42015

CHC43015

CHC43115

CHC43215

CHC43315

CHC50121

CHC50121

CHC52015

CHC52115

CHC62015

CPC20720

CPC30220

CPC30220

CPC30216

**National Course** 

22582VIC

22588VIC

22589\/IC

22602VIC

22603VIC

BSB30120

BSB40120

BSB40420

RSR40520

BSB40620

BSB50420

BSB50520

BSB50820

CHCSS00070

CHCSS00093

CHC30121

CHC30121

CHC33015

CHC33015

CHC33015

CHC33015

CHC33015

CHC40221

CHC40413

CHC42015

CHC43015

CHC43115

CHC43215

CHC43315

CHC50121

CHC50121

CHC52015

CHC52115

CHC62015

CPC20720

CPC30220

CPC30220

CPC30216



These fees apply to individual students
Ask us about industry and group rates (Ph: 1300 82 33 87)

ertificate IV in Tertiary Preparation

Certificate III in Enabling Technologies

Certificate III in Emerging Technologies

Specialisation: Business Administration

Diploma of Leadership and Management

Diploma of Library and Information Systems

Certificate III in Early Childhood Education and Care

Certificate III in Early Childhood Education and Care

Certificate IV in Human Resources Management

Certificate IV in Leadership and Management

Certificate IV in Cyber Security

Certificate IV in Legal Sevices

Diploma of Project Management

Alcohol and Other Drugs Skill Set

Certificate III in Individual Support

ertificate III in Individual Support

Specialisation: Ageing - Trainee Certificate III in Individual Support

Specialisation: Ageing, Home and Community
Certificate III in Individual Support

Certificate IV in School Based Education Support

Stream: Non-trainee

Specialisation: Ageing Certificate III in Individual Support 598

Specialisation: Disability

Certificate IV in Youth Work

Certificate IV in Ageing Support

Certificate IV in Mental Health

Diploma of Community Services

Diploma of Community Development

ertificate IV in Disability

Stream: Non-Trainee

Certificate II in Drainage

Certificate III in Carpentry

Stream: Off-campus and Geelong

Certificate III in Signs and Graphics

Stream: On-campus Certificate III in Carpentry

Stream: Trainee

Certificate IV in Community Services

Certificate IV in Alcohol and Other Drugs

Diploma of Early Childhood Education and Care

Diploma of Early Childhood Education and Care

Advanced Diploma of Community Sector Management

Stream: Trainee

Assist Clients with Medication Skill Set

Certificate III in Business Certificate IV in Business

Diploma of Teacher Education Preparation

number of

1137

1181

765

\$2.65

\$2.65

\$4.00

\$3,013.05

\$3,129,65

\$3,060.00

\$602.61

\$625.93

\$612.00

Victorian Government Subsidised Student (Material fees and SSAF are charged in addition to the tuition fee) Indicative Indicative tudent tuition tudent tuition Indicative material fee per student tuition fee for course fee (Incl. GST where or course 535 \$1.80 \$963.00 \$192.60 \$0.00 380 \$5.80 \$2,204.00 \$440.80 \$0.00 410 \$4.40 \$1.804.00 \$360.80 \$0.00 730 \$6.15 \$897.90 \$4 489 50 \$0.00 850 \$5.80 \$4,930.00 \$986.00 \$264.00 480 \$4.50 \$2,160,00 \$432.00 \$0.00 615 \$6.10 \$3,751.50 \$750.30 \$0.00 485 \$5.80 \$2,813.00 \$562.60 \$10.00 520 \$4.00 \$2.080.00 \$416.00 \$0.00 520 \$6.60 \$3,432.00 \$686.40 \$0.00 700 \$8.50 \$5,950,00 N/A \$0.00 820 \$8.20 \$6,724.00 N/A \$30.00 560 \$8.50 \$4,760.00 N/A \$0.00 150 \$0.00 \$0.00 \$0.00 \$0.00 360 \$0.00 \$0.00 \$0.00 \$0.00 1118 \$4.00 \$4,472.00 \$894.40 \$250.00 1118 \$4.00 \$4,472.00 \$894.40 \$160.00 650 \$1.25 \$812.50 \$162.50 \$241.00 \$1.25 650 \$812.50 \$162.50 \$163.00 628 \$1.25 \$785.00 \$157.00 \$0.00 660 \$1.25 \$825.00 \$165.00 \$163.00 675 \$843.75 \$1.25 \$168.75 \$163.00 862 \$6.10 \$5,258.20 \$1,051.64 \$207.00 1015 \$2.40 \$487.20 \$2,436.00 \$10.00 920 \$4.10 \$3,772,00 \$754.40 \$10.00 1233 \$1.70 \$2.096.10 \$419.22 \$184.50 920 \$1.70 \$1,564.00 \$312.80 \$95.00 1303 \$2.95 \$3.843.85 \$768.77 \$36.00 895 \$2.85 \$2,550.75 \$510.15 \$5.00 1288 \$5.15 \$6.633.20 N/A \$345.00 1288 \$5.15 \$6,633,20 N/A \$262.50 1355 \$6.00 \$8,130.00 N/A \$10.00 1210 \$6.60 \$7,986.00 N/A \$10.00 1130 \$4.60 \$5,198.00 N/A \$0.00 366 \$8.00 \$2,928.00 \$585.60 \$158.00

Full-fee (Incl. material	Student fees and SSAF)							
Student tuition fee per enrolled hour	Indicative student tuition fee for course	VET Student Loan Cap	Course eligible for Free TAFE	Apprentice / Trainee	Non-Apprentice / Trainee	Skills First Government contribution towards your training (Apprenticeship / Traineeship)	Skills First Government contribution towards your training (Non- Apprenticeship / Traineeship)	
\$8.50	\$4,547.50	N/A	N/A		\$7.50		\$ 4,012.50	
\$14.00	\$5,320.00	N/A	N/A		\$7.00		\$ 2,660.00	
\$12.50	\$5,125.00	N/A	N/A		\$7.00		\$ 2,870.00	
\$14.00	\$10,220.00	\$16,788.00	N/A		\$6.50		\$ 4,745.00	
\$14.00	\$11,900.00	N/A	Eligible		\$7.00		\$ 5,950.00	
\$8.50	\$4,080.00	N/A	N/A		\$4.50		\$ 2,160.00	
\$10.00	\$6,150.00	N/A	N/A		\$4.50		\$ 2,767.50	
\$12.50	\$6,062.50	N/A	N/A		\$7.00		\$ 3,395.00	
\$12.50 \$14.00	\$6,500.00 \$7,280.00	N/A N/A	N/A N/A	\$3.50	\$7.00 \$8.50	\$ 1,820.00	\$ 3,640.00	
\$14.00	\$8,750.00	\$11,191.00	N/A N/A		\$3.50		\$ 4,420.00	
\$14.00	\$11,480.00	\$16,788.00	N/A		\$6.50		\$ 2,450.00	
\$12.50	\$7,000.00	\$16,788.00	N/A		\$4.50		\$ 5,330.00 \$ 2,520.00	
\$8.50	\$1,275.00	N/A	N/A		\$8.75			
\$6.52	\$2,347.20	N/A	N/A		\$12.25		\$ 1,312.50 \$ 4,410.00	
\$12.50	\$13,975.00	N/A	Eligible	\$7.50	\$7.50	4 0.005.00		
\$12.50	\$13,975.00	N/A	Eligible	\$7.50	\$7.50	\$ 8,385.00	\$ 8,385.00	
\$10.00	\$6,500.00	N/A	Eligible	\$9.00	\$9.00	\$ 8,385.00 \$ 5,850.00	\$ 8,385.00 \$ 5,850.00	
\$10.00	\$6,500.00	N/A	Eligible	\$9.00	\$9.00	\$ 5,850.00	\$ 5,850.00	
\$10.00	\$6,280.00	N/A	Eligible	\$9.00	\$9.00	\$ 5,652.00	\$ 5,652.00	
\$10.00	\$6,600.00	N/A	Eligible	\$9.00	\$9.00	\$ 5,940.00	\$ 5,940.00	
\$10.00	\$6,750.00	N/A	Eligible	\$9.00	\$9.00	\$ 6,075.00	\$ 6,075.00	
\$14.00	\$12,068.00	N/A	Eligible		\$7.50		\$ 6,465.00	
\$12.50	\$12,687.50	N/A	Eligible		\$9.00		\$ 9,135.00	
\$12.50	\$11,500.00	N/A	Eligible		\$7.50		\$ 6,900.00	
\$10.00	\$12,330.00	N/A	Eligible		\$9.00		\$ 11,097.00	
\$8.50	\$7,820.00	N/A	Eligible		\$7.50		\$ 6,900.00	
\$12.50	\$16,287.50	N/A	Eligible		\$10.50		\$ 13,681.50	
\$12.50	\$11,187.50	N/A	Eligible		\$9.00		\$ 8,055.00	
\$12.50	\$16,100.00	\$16,788.00	Eligible	\$6.50	\$6.50	\$ 8,372.00	\$ 8,372.00	
\$12.50	\$16,100.00	\$16,788.00	Eligible	\$6.50	\$6.50	\$ 8,372.00	\$ 8,372.00	
\$12.50	\$16,937.50	\$16,788.00	Eligible		\$6.50		\$ 8,807.50	
\$12.50	\$15,125.00	\$11,191.00	N/A		\$6.50		\$ 7,865.00	
\$10.00	\$11,300.00	\$11,191.00	N/A		\$6.50		\$ 7,345.00	
\$20.00	\$7,320.00	N/A	N/A		\$9.50		\$ 3,477.00	
\$16.50	\$18,760.50	N/A	N/A	\$14.50		\$ 16,486.50	#VALUE!	
\$16.50	\$19,486.50	N/A	N/A	\$14.50		\$ 17,124.50	#VALUE!	

\$965.00

\$0.00

\$919.00

\$20.00

\$15,300.00

N/A

N/A

\$14.50

11,092.50

#VALUE!

Victoria

Polytechnic

CPC31920

CPC32413

CPC32420

CPC33020

CPC40920

CPC50220

CPC60121

CUA51020

FNS40217

NS50217

FNS50222

FNS50417

FNS50422

HI T31120

HT33115

HI T37315

HLT43015

HI T43015A

HLT50321

HI T51020

HLT52015

HIT54115

HI T54121

ICT20120

ICT30120

ICT40120

NSUPPORT

MEM30219

MFM30219A

MFM30219R

MFM30319

MEM30319A

MFM30319B

MEM40119

MSF20313

**National Course** 

CPC31920

CPC32413

CPC32420

CPC33020

CPC40920

CPC50220

CPC60121

CUA51020

FNS40217

FNS50217

FNS50222

FNS50417

FNS50422

HIT31120

HIT33115

HLT37315

HLT43015

HIT43015

HLT50321

HIT51020

HLT52015

HLT54115

HIT54121

ICT20120

ICT30120

ICT40120

INSUPPORT

MEM30219

MFM30219

MFM30219

MEM30319

MEM30319

MFM30319

MEM40119

MSF20313



These fees apply to individual students
Ask us about industry and group rates (Ph: 1300 82 33 87)

ertificate III in Joinery

Certificate III in Plumbing\*

Certificate III in Plumbing

Stream: On-campus

Certificate III in Bricklaying/Blocklaying

Certificate IV in Plumbing and Services

Advanced Diploma of Building Surveying

Specialisation: Specialist Make-up Services

Certificate IV in Accounting and Bookkeeping

Certificate III in Non-Emergency Patient Transport

Certificate III in Health Services Assistance

Certificate III in Health Administration

Certificate IV in Allied Health Assistance

Certificate IV in Allied Health Assistance

Diploma of Emergency Health Care

Diploma of Remedial Massage

Diploma of Nursing\*

Diploma of Nursing

Specialisation: Community rehabilitation

Certificate II in Applied Digital Technologies

Certificate III in Information Technology

Certificate IV in Information Technology

Certificate III in Engineering - Mechanical Trade

Certificate III in Engineering - Mechanical Trade

Certificate III in Engineering - Mechanical Trade

Certificate III in Engineering - Fabrication Trade

Certificate III in Engineering - Fabrication Trade

Certificate III in Engineering - Fabrication Trade

488

\$2.40

\$1,171.20

\$234.24

Specialisation: Boilermaking/Welding

Literacy and Numeracy Support

Specialisation: Fitting/machining

pecialisation : Fitting

Specialisation: Welding

Stream: On-campus

Certificate IV in Engineering

Certificate II in Furniture Making

Diploma of Screen and Media

Diploma of Accounting

Diploma of Accounting

Diploma of Payroll Services

Diploma of Payroll Services

Diploma of Clinical Coding

Diploma of Building and Construction (Building)

Victorian Government Subsidised Student Full-fee Student (Material fees and SSAF are charged in addition to the tuition fee) (Incl. material fees and SSAF Skills First Skills First Course Government VET Student ligible fo contribution contribution Loan Cap Free TAFE Apprentice / towards your Ion-Apprentice towards vou Trainee Trainee training training Indicative Student student number of tudent tuition tudent tuition Indicative material (Apprenticeship fee per student tuition fee for course fee (Incl. GST where tuition fee per uition fee for Apprenticeship / Traineeship) or course course Traineeship) 970 \$2.75 \$2,667.50 \$533.50 \$706.00 \$20.00 \$19,400.00 N/A N/A \$14.50 14,065.00 1673 \$3.75 \$6,273.75 \$1,254.75 \$2,056.00 \$16.50 \$27,604.50 N/A N/A \$15.50 25,931.50 1673 \$3.75 \$6,273,75 \$1,254,75 \$2,145.00 \$16.50 \$27,604,50 \$15.50 25,931.50 \$540.10 \$645.00 982 \$2.75 \$2,700.50 \$16.50 \$16,203.00 N/A N/A \$14.50 14.239.00 739 \$3.50 \$2 586 50 \$517.30 \$0.00 \$16.50 \$12,193,50 N/A Eligible \$11.50 8,498.50 2100 \$5.80 \$12,180.00 N/A \$692.00 \$29,400.00 \$16,788.00 \$14.00 Fligible \$7.50 15,750.00 2565 \$5.20 \$13,338.00 N/A \$0.00 \$14.00 \$35,910.00 \$16,788.00 Eligible \$7.50 19,237.50 1055 \$9.45 \$9.969.75 N/A \$3,248.00 \$16.50 \$17,407.5 \$16,788.00 N/A \$6.50 6.857.50 640 \$4.50 \$2,880.00 \$576.00 \$318.00 \$12.50 \$8,000.0 Eligible \$7.00 N/A 4,480.00 660 \$5.05 \$3,333.00 N/A \$0.00 \$12.50 \$8,250.00 \$11,191.00 Fligible \$6.50 4,290.00 660 N/A \$0.00 \$5.30 \$3,498.00 \$12.50 \$8,250.00 \$11,191.00 Eligible \$6.50 4,290.00 475 \$5.05 \$2,398.75 N/A \$116.00 \$12.50 \$5,937.50 \$5,595.00 N/A \$6.50 3.087.50 485 \$5.05 \$2,449,25 N/A \$116.00 \$12.50 \$6.062.50 \$11.191.00 N/A \$6.50 3.152.50 614 \$2.30 \$282.44 \$211.50 \$7,675,00 \$1 412 20 \$12.50 N/A N/A \$10.50 6.447.00 463 \$2.30 \$1.064.90 \$212.98 \$51.50 \$12.50 \$5,787.5 N/A Eligible \$10.50 4,861.50 413 \$2.85 \$235.41 \$67.50 N/A \$1.177.05 \$10.00 \$4.130.00 N/A \$8.50 \$6.75 3,510.50 2,787.75 1015 \$2.95 \$2,994.25 \$598.85 \$50.20 \$16,747.5 N/A Eligible \$16.50 \$12.50 12,687.50 1015 \$2.95 \$2,994.25 \$598.85 \$50.20 \$16.50 \$16,747.5 N/A Eligible \$12.50 12,687.50 665 \$6.00 \$3,990.00 \$798.00 \$750.00 \$12.50 \$8,312.50 N/A N/A \$6.00 3.990.00 1110 \$7.55 \$8,380,50 \$1,676,10 \$212.50 \$16,788,00 Fligible \$14.00 \$15,540,00 \$7.00 7,770.00 1698 \$6.70 \$11,376.60 N/A \$915.00 \$12.50 \$21,225.00 \$16,788.00 N/A \$6.00 10.188.00 1725 \$8.20 \$14.145.00 N/A \$1.501.00 \$20.00 \$34,500.00 \$16,788,00 Eligible \$10.00 17.250.00 1768 \$8.20 N/A \$1 587 30 \$14 497 60 \$20.00 \$35,360,00 \$16,788,00 Eligible \$10.00 17.680.00 460 \$1,541.00 \$308.20 \$10.00 \$4,600.00 N/A N/A \$7.00 \$3.35 \$10.00 3,220.00 530 \$466.40 Eligible \$4.40 \$2 332 00 \$15.00 \$10.00 \$5,300,00 N/A \$7.00 3.710.00 920 \$4.75 \$4.370.00 \$874.00 \$90.00 \$12.50 \$11,500.00 N/A N/A \$7.00 6,440.00 95 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 N/A N/A \$7.50 712.50 960 \$3.90 \$3,744.00 \$748.80 \$1,270.00 \$20.00 \$19,200.00 N/A \$15.50 \$14,880.00 N/A 1000 \$3.90 \$891.00 \$3,900.00 \$780.00 \$20,000.00 N/A \$20.00 N/A \$15.50 15.500.00 1000 \$3.90 \$3,900,00 \$780.00 \$1 245 00 \$20,000,00 \$20.00 N/A N/A \$15.50 15.500.00 970 \$3.90 \$3,783.00 \$756.60 \$881 - \$1046 \$20.00 \$19,400.00 N/A N/A \$15.50 15,035.00 1000 \$3.90 \$3,900.00 \$780.00 \$991.00 \$20.00 \$20,000.00 N/A N/A \$15.50 15,500.00 1000 \$3.90 \$3,900.00 \$780.00 \$1,181.00 \$20.00 \$20,000.0 N/A N/A \$15.50 15,500.00 1350 \$4.10 \$5.535.00 \$1.107.00 \$2,295.00 \$20.00 \$27,000.0 N/A Eligible \$15.50 \$12.50 20,925.00 16,875.00

\$707.00

\$16.50

\$8,052.00

N/A

Eligible

\$13.00

\$6,344.00



These fees apply to individual students Ask us about industry and group rates (Ph: 1300 82 33 87)

Victorian Government Subsidised Student (Material fees and SSAF are charged in addition to the tuition fee)

Full-fee Student (Incl. material fees and SSAF

Skills First Skills First Course Government VET Student ligible fo contribution contribution Loan Cap Free TAFE Apprentice / towards your Ion-Apprentice towards vou Trainee Trainee training training (Apprenticeship Traineeship) Traineeship) N/A Eligible \$13.00 \$14.50 N/A N/A 16,805.50

Victoria

Polytechnic

SIT30821

SIT40516

SIT40516

SIT40521

SIT50122

SIT50316

SIT50322

SIT50416

SIT50422

SIT60316

SIT60322

UE30811

UFF30820

UEE43220

VCALINT001

VCALSEN001

VCE0000001

VPC0000001 VPC0000001

**National Course** 

SIT30821

SIT40516

SIT40516

SIT40521

SIT50122

SIT50316

SIT50322

SIT50416

SIT50422

SIT60316

SIT60322

UEE30811

UFF30820

UEE43220

VCALINT001

VCALSEN001

VCE0000001

(VM)



\$9,600.00

These fees apply to individual students
Ask us about industry and group rates (Ph: 1300 82 33 87)

Certificate III in Commercial Cookery

Certificate IV in Commercial Cookery

Students commencing from 1 Jan 2023 Certificate IV in Commercial Cookery

Continuing Students prior to 1 Jan 2023

Diploma of Travel and Tourism Management

Advanced Diploma of Hospitality Management

Advanced Diploma of Hospitality Management

Certificate III in Electrotechnology - Electrician

Certificate III in Electrotechnology - Electrician

Certificate IV in Industrial Automation and Control

Victorian Certificate of Applied Learning (Senior)

Victorian Pathways Certificate

Victorian Certificate of Applied Learning (Intermediate)

VCE -Victorian Certificate of Education - Vocational Major

1200

\$2.90

\$3,480.00

\$696.00

\$0.00

Certificate IV in Kitchen Management

Diploma of Event Management

Diploma of Event Management

Diploma of Hospitality Management

Diploma of Hospitality Management

Stream: Off campus Students commencing from July 2023

Victorian Government Subsidised Student Full-fee Student (Material fees and SSAF are charged in addition to the tuition fee) (Incl. material fees and SSAF Skills First Skills First Course Government VET Student eligible for contribution contribution Loan Cap Free TAFE Apprentice / Non-Apprentice / towards your towards vour Indicative Trainee Trainee training training number of tudent tuition Indicative student tuition Student student Indicative material (Apprenticeship enrolled fee per student tuition fee for course fee (Incl. GST where tuition fee per uition fee for Apprenticeship / Traineeship) (Concession) enrolled hour course Traineeship) 97 \$4.95 \$4.836.15 \$967.23 \$651.00 \$12.50 \$12,212,50 N/A N/A \$14.50 14,166.50 1405 \$4.95 \$6,954.75 \$1,390.95 \$612.00 \$10.00 \$14,050.00 N/A N/A \$14.50 \$8.00 \$11,240.00 20,372.50 1405 \$2.95 \$777.00 \$4.144.75 \$828.95 \$10.00 \$14.050.00 N/A N/A \$14.50 \$8.00 \$11.240.00 20,372.50 1402 \$4.95 \$6,939.90 \$1,387.98 \$697.00 \$14.00 \$19,628.00 N/A N/A \$8.00 \$11,216.00 1225 \$4.10 N/A \$5,022.50 N/A \$592.00 \$12.50 \$15,312.50 \$11,191.00 \$6.00 \$7,350.00 1115 \$5.15 \$5.742.25 N/A \$524.00 \$10.00 \$11,150.00 \$11,191.00 N/A \$6.00 \$6,690.00 1120 \$4.10 \$4.592.00 N/A N/A \$415.00 \$12.50 \$14,000,00 \$11 191 00 \$6,720,00 \$6.00 1265 \$4.10 \$5.186.50 N/A \$460.00 \$8.50 \$10,752,50 \$11.191.00 N/A \$4.50 \$5.692.50 1340 \$4.10 \$5,494.00 N/A \$504.00 \$8.50 \$11,390.00 \$11,191.00 N/A \$4.50 \$6,030.00 1560 \$3.15 \$4,914.00 N/A \$550.00 \$10.00 \$15,600.00 \$11,191.00 N/A \$10,140.00 \$6.50 1632 \$3.15 \$5,140.80 \$594.00 - \$604.00 \$10.00 \$16,320.00 \$11,191.00 N/A \$6.50 \$10,608.00 1144 \$2.90 \$3,317.60 \$16.50 \$18,876.00 N/A N/A 1144 \$2.90 \$3,317.60 \$663.52 \$2,213.00 \$16.50 \$18.876.00 N/A N/A \$13.50 15,444.00 N/A 1274 \$2.75 \$3,503.50 \$700.70 \$2,620.00 \$16.50 \$21,021.00 N/A N/A \$11.00 14,014.00 800 \$2.40 \$1,920.00 \$384.00 \$0.00 \$10.00 \$8,000.00 N/A N/A \$8.00 \$6,400.00 800 \$2.40 \$1,920.00 \$384.00 \$0.00 \$10.00 \$8,000.00 N/A N/A \$8.00 \$6,400.00 1780 \$2.90 \$5,162.00 \$1,032.40 \$0.00 \$12.50 \$22,250.00 N/A N/A \$8.00 \$14,240.00

\$15,000.00

\$12.50

N/A

N/A

\$8.00